	Рассчитать размерную цепь:


[image: image1.png]A, A

1

Ay A





A1=255[image: image3.png]0,046




A2=22[image: image5.png]0,014




A3=264[image: image7.png]+0,052




А4=146+0,062

А5=22,6[image: image9.png]0,014




	Рассчитать размерную цепь:


[image: image10.png]



А1=39±0,025

А2=415-0,014

А3=218+0,015
А4=132[image: image12.png]+0,005
0,003




А5=141+0,002

	Рассчитать размерную цепь:


[image: image13.png]



А1=28±0,016

А2=22+0,025
А3=13-0,015
А4=33[image: image15.png]+0,008
0,008




А5=17+0,007
	Рассчитать размерную цепь:

[image: image16.png]



А1=300±0,003

А2=3-0,005
А3=4,38-0,025
А4=3-0,001
А5=120±0,004

	Рассчитать размерную цепь:


[image: image17.png]



А1=155-0,046

А2=22-0,014

А3=120+0,052

А4=140+0,062

А5=22-0,014
	Рассчитать размерную цепь:


[image: image18.png]A, A

1

Ay A





A1=55[image: image20.png]0,046




A2=225[image: image22.png]0,014




A3=286[image: image24.png]+0,052




А4=498+0,062

А5=256[image: image26.png]0,014






	Рассчитать размерную цепь:


[image: image27.png]



А1=39±0,025

А2=41-0,014

А3=18+0,015
А4=32[image: image29.png]+0,005
0,003




А5=41+0,002
	Рассчитать размерную цепь:


[image: image30.png]



А1=128±0,016

А2=122+0,025
А3=113-0,015
А4=133[image: image32.png]+0,008
0,008




А5=117+0,007

	Рассчитать размерную цепь:


[image: image33.png]



А1=300±0,003

А2=3-0,005
А3=4,38-0,025
А4=3-0,001
А5=250±0,004
	Рассчитать размерную цепь:


[image: image34.png]



А1=255-0,046

А2=232-0,014

А3=20+0,052

А4=340+0,062

А5=2,64-0,014

	Рассчитать размерную цепь:


[image: image35.png]A, A

1

Ay A





A1=155[image: image37.png]0,046




A2=22[image: image39.png]0,014




A3=20[image: image41.png]+0,052




А4=240+0,062

А5=22[image: image43.png]0,014




	Рассчитать размерную цепь:


[image: image44.png]



А1=139±0,025

А2=41-0,014

А3=186+0,015
А4=132[image: image46.png]+0,005
0,003




А5=41+0,002


	Рассчитать размерную цепь:


[image: image47.png]



А1=228±0,016

А2=22+0,025
А3=13-0,015
А4=133[image: image49.png]+0,008
0,008




А5=17+0,007
	Рассчитать размерную цепь:


[image: image50.png]



А1=500±0,003

А2=30-0,005
А3=4,38-0,025
А4=30-0,001
А5=100±0,004

	Рассчитать размерную цепь:


[image: image51.png]



А1=355-0,046

А2=229-0,014

А3=320+0,052

А4=408+0,062

А5=122-0,014
	Рассчитать размерную цепь:


[image: image52.png]A, A

1

Ay A





A1=55[image: image54.png]0,046




A2=223[image: image56.png]0,014




A3=204[image: image58.png]+0,052




А4=246+0,062

А5=122[image: image60.png]0,014





	Рассчитать размерную цепь:


[image: image61.png]



А1=39±0,025

А2=141-0,014

А3=180+0,015
А4=32[image: image63.png]+0,005
0,003




А5=41+0,002
	Рассчитать размерную цепь:


[image: image64.png]



А1=128±0,016

А2=202+0,025
А3=113-0,015
А4=33[image: image66.png]+0,008
0,008




А5=17+0,007


	Рассчитать размерную цепь:


[image: image67.png]



А1=300±0,003

А2=3-0,005
А3=4,38-0,025
А4=3-0,001
А5=150±0,004
	Рассчитать размерную цепь:


[image: image68.png]



А1=55-0,046

А2=212-0,014

А3=220+0,052

А4=240+0,062

А5=2,2-0,014

	Рассчитать размерную цепь:


[image: image69.png]A, A

1

Ay A





A1=55[image: image71.png]0,046




A2=122[image: image73.png]0,014




A3=120[image: image75.png]+0,052




А4=140+0,062

А5=22[image: image77.png]0,014




	Рассчитать размерную цепь:


[image: image78.png]



А1=39±0,025

А2=141-0,014

А3=188+0,015
А4=132[image: image80.png]+0,005
0,003




А5=4,1+0,002

	Рассчитать размерную цепь:


[image: image81.png]



А1=208±0,016

А2=212+0,025
А3=13-0,015
А4=303[image: image83.png]+0,008
0,008




А5=178+0,007
	Рассчитать размерную цепь:


[image: image84.png]



А1=50±0,003

А2=3-0,005
А3=4,38-0,025
А4=3-0,001
А5=25±0,004


	Рассчитать размерную цепь:


[image: image85.png]



А1=350±0,003

А2=39-0,005
А3=4,38-0,025
А4=3-0,001
А5=100±0,004
	Рассчитать размерную цепь:


[image: image86.png]



А1=18±0,016

А2=52+0,025
А3=153-0,015
А4=33[image: image88.png]+0,008
0,008




А5=17+0,007

	Рассчитать размерную цепь:


[image: image89.png]



А1=50±0,003

А2=3-0,005
А3=4,38-0,025
А4=3-0,001
А5=15±0,004
	Рассчитать размерную цепь:


[image: image90.png]



А1=50±0,003

А2=3-0,005
А3=4,38-0,025
А4=3-0,001
А5=12±0,004

	Рассчитать размерную цепь:


[image: image91.png]



А1=255-0,046

А2=22-0,014

А3=320+0,052

А4=140+0,062

А5=122-0,014
	Рассчитать размерную цепь:


[image: image92.png]



А1=55-0,046

А2=2,2-0,014

А3=20+0,052

А4=40+0,062

А5=2,2-0,014


_1333292124

_1333292556

_1333292567

_1333292584

_1333292588

_1333292578

_1333292561

_1333292138

_1333292144

_1333292154

_1333292131

_1333291771

_1333291788

_1333291803

_1333291795

_1333291778

_1333291311

_1333291347

_1333291355

_1333291361

_1333291324

_1333290701

_1333290717

_1333290728

_1333290708

_1333290587

